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20104F6 H27TH FEh /NP6 4E  ANZHE — BB RAGE  Z1E =%k sm 7 ) xA b apa— R 21-13000
ROTHE 23284
X () NI
JIE AL = Y 4 K 4 753 [l 7 JIE AL =Y 4 K 4 P 7
1 (72) | 7w/ 7 VA b OLIEK KA & 117] 67.0 41 Q14D | 7m 2 7 V=g b O FF £R 62 43.7
1 ()| 7as7V=a b3 | #h ) 117] 67.0 41 (1747 | 7w/ 7 V= RERZER | g RS 62| 43.7
3 ) 7w/ 7V x=a "VRBERK PN N 115( 66.1 41 Q) | 7as 7 V=g PNEFK WEFS ELAR 62| 43.7
4 Ga3) | rzm /7Y PNEFAL | AE T 101| 60.2 44 (1874) | 7w/ 27 V=4 NRZBEK | B0 i} 57| 41.5
5 B8N | rwm/r7V=xA MERBER |BEH HITH 99| 59.3 45 (1950) | 7 m /7 7 VA b2 IEK | BRI W 53 39.8
6 (110) [ 7v /7 V=g Fo<IEFK ot &+ 98| 58.9 46 (1970) | 7=/ 7 VA MESEK | HIR B 52 39.4
T 42 | re s 7 ) g bR | PR WK 97| 58.5 47 (2080) | 7w 7 U A bHAREL R AL 46| 36.9
8 (459) | rm /7 U=xA MEOAK | Fik Gk 96( 58.1 48 (2257) | 7w 2 V=4 MEORK | B MAE 27| 28.8
9 (503) | 7m /7 U=xA bOIEK | A BF 95| 57.6
9 (B03) | rm /7 VT A ML ER 95| 57.6
9 (B03) | rm/ 7Yz FRBEKR |HEH 2T 95| 57.6
9 (03) | rm/ 7 VxAa MESER | bEn 95| 57.6
13 (545) | 7m /7 V= A FHIERKE A il 94| 57.2
14 (686) | 7 v/ 27 VA AR HE 3 93| 56.8
15 (657) | 7w/ 7 V=g hOITK | oL Bl 91| 56.0
15 (657) | 7w/ 27 VA NTIEK do v 91| 56.0
17 (693) | 7w/ 7 VxAg bOITHKE | R B 90| 55.5
18 (724) | 7w/ 7V =A MRBEKR | £H WA 89| 55.1
18 (724) | 7m0V =g NNEFK |FH Z&H 89| 55.1
18 (724) | 7wy 27V PNEFK | KL ER 89| 55.1
21 (@88) | 7m /7 mg hOLFE | AR FE 88| 54.7
22 (810) | 7/ 7 V=g FNETK TR I 87| 54.3
23 (863) | 7w/ 7 YA MHLASHK #IR B 86| 53.8
23 (853) | /7m /7 U x=Ag PNEFAK | B E— 86| 53.8
23 (863) | /7w /YA PERBEK | Kb B+ 86| 53.8
26 (909) | 7/ 7 U= A PNETK aA KHE 85| 53.4
27 (937) | 7m /7 Y=o MMASHKR 2 S ] 84| 53.0
28 TN | rm /7Y A FTHEMK B R 83| 52.6
28 9T7) | v/ 7 Y=o MdSER JIER HE 83| 52.6
30 (1134) | 7m /7 Vg o3 | OBET 79| 50.9
31 (1188) | 7w/ 7 VA MRBEK | Az 78| 50.4
31 (1188) | 7/ 7 U=xA FNEBIEK HEH BEIR 78] 50.4
33 (1263) | 7w/ 7 YA MEOAK | EA Kth 76| 49.6
33 (1283) | 7o/ 7 Y oA MK Efe S 76| 49.6
35 (1282) | 7w/ 7 Y =Ag MINEFAK | AW EHE 75| 49.2
36 (1306) | 7/ 7 V=g FNETK Bl A8k 74| 48.7
37 (1334) | v/ 7 U =A FFEERK A EH 73] 48.3
38 (1561) | 7o/ 7 YA FRBIEK | BN FEK 67| 45.8
39 (1696) | 7 a7 V= A FTHEERK Tt 63 44.1
39 (1696) | 7m /7 VA hRBIEK | HEE EHX 63| 44.1




